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B.A. General Examination 2022
(Under CBCS Pattern)

Semester - VI
Subject: SANSKRIT

Paper: GE 2-T

Candiates are required to give their answer in their own
words as far as practicable.

The figures in the margin indicate full marks.

Question Paper

VIDYASAGAR UNIVERSITY

Sanskrit Meter and Music

1. EÍFXõ¶FÎFWðF] ÜF»FW˜šk ÒèÎFÑF¦˜F=+õÜF H¸FÞk Ò¼WÜFÛFh — 2×5=10

(=+) šÎ¼O-èFÙ¼õÜF æÜF]¶FhÑFP¸F;F¶FO E»FaO =+O?

(&F) õFFÛÒ¶Fk æFW¼WðF] =+P¶F šÎ¼FkPõF PæFÃÎ¶FW? =+FPÎF ˜F ¶FFPÎF?

(;F) ¡FFP¶FÎFFaÛF =+F?

Full Marks : 60

Time : 3 Hours
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(fF) P=k+ ÎFFÛF æF_¸FÛFh? ¶F¶Fh =+P¶FPæFÍFÛFh?

(‘~) õæFáÑFF‡FÞPæFPèFñõÜF æFYP¼=+šÎ¼õFX ÎFFÛF P=+ÛFh? ¶F·F =+P¶F E‡FÞFO õFPÎ¶F?

(˜F) ˜F¶F]PÚFaO ÜF=+FÞYO õFkÜF]¶Fk šÎ¼O P=+ÛFh? =+X ÎFFÛF E‡FÞO?

(š) öFP;æFÎFUšÎ¼õFO áF‡FµFk P=+ÛFh? ¶F·F =W+ =W+ ;FµFFO PæFÃÎ¶FW?

(¡F) =+F ÎFFÛF ÜFP¶FO?

2. ÜF»FW˜šk ÒèÎF˜F¶F]ñÜF k õFÛFFÍFWÜFÛFh O 5×4=20

(=+) PèF&FPÞµFU-šÎ¼õFO õFX¼FùÞµFk áF‡FµFk æFYPèFñÝFPÎF ˜F HPááF&ÜFÎ¶FFÛFh—

(&F) ;FµFPÎFµFaÜFÑF[æFa=k+ šÎ¼X PÎFµFUaÜF¶FFÛFh O

P˜F·FW PÎFæFWèÜF ÑFPÞ=+PáÑF¶FõF¸æFÜFX;FF—

(;F) ©U=+F áFW&ÜFF O ÛFF·FFæF_¸FÛFh E»FæFF šÎ¼XÛF¦¡FÞU

—

(fF) šÎ¼OèFFõ·FFÎF]õFFÞk =W+ =W+ æFµFFa ;F]ßõFk£F=+F ÚFæFPÎ¶F? =+FPÞ=+FÛF]PááF&ÜF EFáFX˜FÜF—

(‘~) æFYP¼=+šÎ¼õFO õFX¼FùÞµFk áF‡FµFk æFYPèFñÝFPÎF ˜F PáF&ÜFÎ¶FFÛFh O EÎF]ñ]ÑFh E»FæFF ¡F;F¶FU
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(˜F) ;FµFPÎFµFaÜFÑF[æFa=k+ šÎ¼X PÎFµFUaÜF¶FFÛFh O

Ò=_+¶ÜFF ÜF¼hæF=ek+ ¶F¼PÑF õFÛFÞW&Fk ÎFÜFÎFÜFXO—

3. ÜF»FW˜šk ÒèÎF·FÜFõÜF H¸FÞk Ò¼UÜF¶FFÛFh O 10×3=30

(=+) æFYP¼=+šÎ¼õFFk ;FU¶FÑFÊP¶FPæFðFÜFW ÎFFP¶F¼UfFb ÒæFÎÍFk PæFÞ˜FÜF—

(&F) õFkõ=_+¶FšÎ¼OèFFõ·FõÜF H¶FhÑFP¸FO =e+ÛFPæF=+FèFè˜F ÑFÜFFaáFX˜ÜF¶FFÛFh—

(;F) PÎFÛÎFXƒ¶FFÎFFk šÎ¼õFFk õFX¼FùÞµFk áF‡FµF-æFYPèFñÝFPÎF ÒP¶FÑFFÃÎ¶FFÛFh O

-

ùPÞ;FUP¶F=+F, ·FX©=+ÛFh

(fF) P=k+ ÎFFÛF ÑFÃÛFh? ÑFÃk =+P¶FPæFÍFÛFh? õFæFWaðFFk áF‡FµFFPÎF õFX¼FùÞµFÛFh EFáFX˜FÜF—

(‘~) PæFðFÜFÂÜFÛFPÍF=_+¶ÜF ©U=+F áFW&ÜFF O èFF¼[aáFPæF=e+UP°¶FÛFh, öF;ÍFÞF
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Or,

Ethical and Moral issues in Sanskrit Literature

1. EÍFXPáFP&F¶FWðF] ÒèÎFWðF] ÑF¦˜FFÎFF k ÒèÎFFÎFFÛFh H¸FÞk Ò¼WÜFÛFh — 2×5=10

—

(=+) ;FU¶FF ÛFùFÚFFÞ¶FõÜF =+PõÛFÎFh ÑFæFaPµF EPõ¶F? ¶F·F =+P¶F èáFX=+FO õFPÎ¶F?

(&F) àÑF=+õÜF =+P¶F ÚFW¼FO? =W+ ˜F ¶FW?

(;F) EèæF¶»FFÛFF =+õÜF ÑF]·FO EFõFU¶Fh? õF =k+ æFkèFk PÎFù¶FæFFÎFh?

(fF) ÞF¡FF ¼]ðÜFÎ¶FO P=+ÛF»Fb èF=]+Î¶FáFFk Ò¶ÜFF&ÜFF¶FæFFÎFh?

(‘~) =+FPáF¼FõFõÜF =_+¶FÜFO PáF&ÜFÎ¶FFÛFh—

(˜F) =e+ÛFFÎF]õFFÞk ÞFÛFFÜFµFõÜF =+Fµ°FPÎF PáF&F¶F]—

(š) æÜFFõFO =+O? ¶FõÜF õFÛÑF[µFb ÎFFÛF P=+ÛFh?

(¡F) ÛFÎF]õFkPù¶FFÜFFO õFÑ¶FÛFFÍÜFFÜFõÜF ÎFFÛF P=+ÛFh? ¶F·F =+P¶F EÍÜFFÜFFO õFPÎ¶F?

2. EÍFXPáFP&F¶FWðF] ÜF»FW˜šk ˜F¶F]µFF b ÒèÎFFÎFFÛF]̧ FÞk Ò¼WÜFÛFh O 5×4=20

(=+) EPÚF£FFÎFèF=]+Î¶FáFÛFh GP¶F ÎFF©=+õÜF ÑF¦˜FÛFF’~FÎF]õFFÞk ÞF£FO ¼]ðÜFÎ¶FõÜF ˜FPÞ·FP˜F·FµFk =]+ß—

(&F) iÞFÛF˜FÎ½O EF¼èFaO ÑFP¶FOj — EõÜF õFÑF‡FW ÜF]ƒ¶FÜFO ÒP¶FÑFFÃÎ¶FFÛFh—

— 
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(;F) ÛFÎF]õFkPù¶FFÎF]õFFÞk =+¼F ÜF]Êk =+¶FaæÜFÛFh GP¶F EFáFX˜ÜF¶FFÛFh—

—

(fF) ÎFUP¶FèF¶F=+FÎF]õFFÞk êFWÜFõFFk ÑFÎ»FFÎFO PáF&ÜFÎ¶FFÛFh—

(‘~) õæFÍFÛFaÑFFáFÎFW ÛFÎF]ðÜFõÜF =+¶FaæÜFPæFðFÜFW ;FU¶FFÎF]õFFÞk PæFõ¶F_¶FFáFX˜FÎFF P=e+ÜF¶FFÛFh—

(˜F) =]+ß‡FW·FW êFU=_+ðµFõÜF ÜF]ÊÎFUP¶FPæFðFÜFW EFáFX˜FÎFFk =]+ß—

3. EÍFXPáFP&F¶FWðF] ÜF»FW˜šk ·FÜFFµFF k ÒèÎFFÎFFÛFh H¸FÞk Ò¼WÜFÛFh— 10×3=30

(=+) ;FU¶FFÎF]õFFÞk Põ»F¶FÒ£FõÜF áF‡FµFk PÎFàÑFÜF¶F—

(&F) ½FYÑF¼Uk ÒP¶F ¼]ÜFXaÍFÎFõÜF ¼]æÜFaæFùFÞÛF]ÑFáF‡ÜF õFÛFU‡FF¶ÛF=+FáFX˜FÎFF P=e+ÜF¶FFÛFh—

—

(;F) ÎFUP¶FèF¶F=+FÎF]õFFÞk PæFÃFÜFFO ÛFù¸æFÛFh EFáFX˜ÜF¶FFÛFh—

(fF) ¼]ðÜFÎ¶FWÎF èF=]+Î¶FáFFÜFFO Ò¶ÜFF&ÜFFÎFk õF”~¶Fk ÎF æFWP¶F PæF˜FFÜFa¶FFÛFh—

—

(‘~) HßÚF”~ÎFF©=W+ õFkõ=_+¶FFáFk=+FÞèFFõ·FõÜF HááF•~ÎFÛFPõ¶F GP¶F H¼FùÞµFÜFX;FWÎF EFáFX˜ÜF¶FFÛFh—

—
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Or,

Basics of Sanskrit Linguistics

1. EÍFXPáFP&F¶FWðF] õF]ÞP;FÞF ¼WæFÎFF;FÜFFa ˜F ÑF[µFaæFFƒÜFWÎF ÑF¦˜FÒèÎFFO õFÛFFÍFWÜFFO— 2×5=10

(=+) ÚFFðFFÜFFO áF‡FµFFPÎF =+FPÎF?

(&F) ÍæFÎFWO EFÍFFÞ·FÜFk P=+ÛFh?

(;F) ÚFFðFFPæF£FFÎF¼_ñÝF æFFƒÜFPæFÎÜFFõFW =+F E¶ÜFFæFèÜF=+U æF¶Fa¶FW?

(fF) ¶FFáFæÜFPÎFÜFÛFO =+O?

(‘~) ÚFFÞXÑFUÜFÚFFðFFÑFPÞæFFÞõÜF æFYPèFñÝk P=+ÛFh?

(˜F) E»FaõæFàÑFk P=+ÛFh?

(š) ÍæFPÎFPæF£FFÎFõÜF P=k+ õæFàÑFÛFh?

(¡F) E»FaPæF£FFÎFW =W+ðFFk PæFðFÜFFµFFÛFh EFáFX˜FÎFk ÚFæFP¶F?

2. ˜F¶F]µFFb ÒèÎFFÎFFÛF¸FÞk ¼WÜFÛFh? 5×4=20

(=+) ÚFFðFFµFFÛFh EF=_+P¶FÛF[áF=k+ æF;FUa=+ÞµFPæFðFÜFW áFfF]PÎFÙFÎÍFX áFW&ÜFO—
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(&F) H˜˜FFÞµFF¶ÛF=k+ ÍæFPÎFPæF£FFÎFk P=+ÛFh?

(;F) ÑF¼õÜF ÑFPÞÚFFðFFk æFµFaÜF¶F—

(fF) æÜF¦¡FÎFFÎFFÛFh H˜˜FFÞµFõ»FFÎFFPÎF =+FPÎF?

(‘~) E»FaõÜF ÛFù¸æFk P=+ÛFh? E»FaõæFàÑFk P=+ÛFh?

(˜F) æFYP¼=+õFkõ=_+¶F-áFFYP=+=+õFkõ=_+¶FÜFXO õFFÛÜFk P=+ÛFh?

3. EÍFXPáFP&F¶FWðF] ÒèÎF·FÜFk õFÛFFÍFWÜFÛFh— 10×3=30

(=+) ÚFFðFFPæF£FFÎFõÜF P=k+ õæFàÑFÛFh ¶FõÜF ÎFFÛF=+ÞµFk èFF&FXÑFèFF&Fk ˜F EFáFX˜FÜF¶F—

(&F) ÚFFðFFµFFk ÑFFPÞæFFPÞ=k+ æF;FUa=+ÞµFk =+»Fk ÚFæFP¶F GP¶F PæF˜FFÞÜF¶F—

(;F) EÑFêF]P¶FO =+F GP¶F õFPæFèF¼ÛFh EFáFX˜FÜF¶F—

(fF) ÑF¼áF‡FµFk ÒP¶FÑFFÃ ¶FõÜF æF;FUa=+ÞµFk =]+ß¶F—

(‘~) æFFƒÜFõÜF ÛFù¸æFk ÒP¶FÑFFÃ æFFƒÜFõæFàÑFk PæFæFW̃ FÜF¶F—


